Exam 2 Calc 2 2/19/2016
. Each problem is worth 10 points. For full credit provide complete justification for your answers.
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2. Give the form for a partial fractions decomposition of J

one does not exist.
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3. What trigonometric substitution is a good idea for evaluating J\/__Z_——_ dx ? [No, you
x +9

don’t need to work it out — just name the good substitution. ]
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6. Derive the reduction formula jsm 0dO =——sin""'Ocosf +—— I sin"?0dé.
n n

o N F ] 3 5
A Sy \. A 3 e Y

CPRVIELS s s vz O
= ;.‘\-1 s O Viz 5.0

e O (pi@%coﬁ@\ \\‘

- s
—g\n\(\ @ oS ® %\»‘r\__‘\_l’;’—————’—”’
et rost iy S

i\

(P30

xq,“"j‘h YO+ (o \}S ST
G om @ oD

,‘»\ k\*’/\ = —%\/\

~ *\ f\‘f‘t._\ (\ s 4
\ AR I0 T S VG VAR E



7. Bunny is a Calculus student at Enormous State University, and she’s having some trouble.
Bunny says “Ohmygod! These integration technics are soooo hard! There was this one
problem where I tried, like, a substitution, but the tutor Daddy hired for me said that wasn’t
good because there wasn’t an x in the numerator. How can that even be, that a problem is
easier if there’s an extra x in it?”

Help Bunny by giving a good example of an integral which is easier if the function has an x
included in the numerator, and explaining why that makes it easier.
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9. Set up an integral and evaluate it to find the volume of the solid resulting from rotating the
region between y = sin x and the x-axis on the interval [0, 7] around the x-axis.
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10. Evaluate J \/—2——2 dx . [Hint: If it’s too daunting with the a, do it with a 1 there.]
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